e ESERCIZIO:
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_ (120-20-10) + (30- 100 - 50)

XG £200 = 32.22cm
_ (20-150-75)+ (80-30-15) _ 4833
Y6 = 5200 = 48.33cm

20-1503) (80 - 303
]x0=( 3 ) - ) _ 23220 - 103¢m*

Jxg =Jxo — Avé = 10605 - 103cm?*

120 - 203 30 -1003
Jyo = ( 3 ) + ( 2 ) = 10320-103cm*

Jye =Jy, — Axé = 4713 - 103cm*
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Jux = ((20 - 150) - (—22.22) - 26.67) + ((80 - 30) - 27.78 - (—33.33))
= —4000 - 103¢cm*
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1 _1( —2 - 4000

~ T0e0E = 4713> = 0.46801 rad = 26,815

J X
]f?} = ’ :]yi%\/(]x _]y)z + 4‘]9%3/

10605 + 4713 1
103 - [ > £ /(10605 — 4713)? + 4 - 40002

Je| _ 112627 - 103cm*
In 291 - 103cm* 36
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